
 

1. Medical ultrasound employs the use of: 
 

 Sound waves with wavelength greater than 0.8 mm 
 Sound waves of frequency less than 20 kHz 
 Light waves of wavelength less than 2 μm 
 Shear waves 
 Sound waves of frequency greater than 2 MHz 

2. Assume a speed-of-sound equal to 1 500 m/s. Which of the following statements 
are correct? 
 
 Ultrasound with frequency less than 3 MHz has wavelength less than 3 mm 
 Ultrasound with wavelength 1 cm has frequency 1.5 MHz 
 Ultrasound with frequency 8 MHz has wavelength longer than 2 mm 
 Ultrasound with wavelength 0.005 m has frequency 3 MHz 
 Ultrasound with frequency 7 MHz has wavelength less than 2 mm 

 

 

 

 

 

 

 

 

 

 

 

 



 

 



 

 

 


